
ca d cf=a= @)&&.)&* sf] cfo cg'dfgsf] ;+lIft ljj/0f k|:t't ub{5' . 

cfo  

s|=;= ljj/)f >f]t /sd cIf]?kL 

1 ;dflgs/)f cg'bfg ;+#Lo ;/sf/ 119700000.00 11 s/f]* 97 nfv 

2 z;{t cg'bfg rfn' ;+#Lo ;/sf/ 166800000.00 16 s/f]* 68 nfv 

3 /fhZj af*kmf* ;+#Lo ;/sf/ 73961877.00 
7 s/f]* 39 nfv 61 xhf/ 8 ;o 

77 

4 ;dflgs/)f cg'bfg k|b]z ;/sf/ 5462000.00 54 nfv 62 xhf/ 

5 z;{t cg'bfg rfn' k|b]z ;/sf/ 20850000.00 2 s/f]* 8 nfv 50 xhf/ 

6 ;jf/L s/ /fhZj af*kmf*  k|b]z ;/sf/ 4097000.00 
40 nfv 97 xhf/ 

7 /lhi ]̂«zg af*kmf* k|b]z ;/sf/ 2000000.00 20 nfv 

8 cfGt/Ls cfo :yfgLo ;/sf/ 7500000.00 75 nfv   

9 
d"Vo dGqL u|fld)F 

ljsf; sfo{qmd 
k|b]z ;/sf/ 6000000.00 

60 nfv 

10 ut cf=a=sf] df}Hbft :yfgLo ;/sf/ 22329123.00 2 s/f]* 23 nfv 29 xhf/ 123 

11 ljz]if cg'bfg ;+#Lo ;/sf/ 5000000.00 50 nfv 

    
 

  s'n cfo hDdf 433700000.00 43 s/f]* 37 nfv  

 

ca d cf=a= @)&&.)&* sf] Aoo cg'dfgsf] ;+lIft ljj/0f k|Zt't ub{5' . 

  Aoo  

s|=;= ljj/)f >f]t /sd cIf]?kL 

1 k|zf;lgs rfn' vr{   10000000.00 10 s/f]*  

2 z;{t cg'bfg rfn' 
;+#Lo 

;/sf/ 
166800000.00 

16 s/f]* 68 nfv 

3 j*f :t/Lo    30000000.00 3 s/f]*  

4 gu/:t/Lo    60050000.00 6 s/f]* 50 xhf/  

5 lzIff   10000000.00 1 s/f]*    

6 :jf:Yo   5000000.00 
50 nfv  

8 dlxnf    1300000.00 13 nfv   

9 s[lif tyf kz' ljsf;   1200000.00 1 s/f]* 26 nfv 50 xhf/ 

10 ;xsf/L tyf ;'rgf ;+rf/   1050000.00 10 nfv 50 xhf/ 

11 ljz]if cg'bfg ;+#Lo 5000000.00 50 nfv 

12 z;{t cg'bfg rfn' 
k|b]z 

;/sf/ 
20850000.00 

2 s/f]* 8 nfv 50 xhf/ 

13 
d"Vo dGqL u|fld)F ljsf; 

sfo{qmd 

k|b]z 

;/sf/ 
6000000.00 

60 nfv 

14 ;dk'/s sf]if    15000000.00 1 s/f]* 50 nfv 

   s'n Joo hDdf   433700000.00 43 s/f]* 37 nfv  



 


